Homework Set 31B
PH 112 – 10
Q1.	In the circuit shown below, three identical light bulbs are connected to a flashlight battery.  (A) How do the brightnesses of the bulbs compare?  (B) Which light bulb has the greatest current passing through it?  (C) Which light bulb has the greatest potential difference between its terminals?  (D) What happens if bulb A is unscrewed?  Bulb B?  Bulb C?  Explain your reasoning.
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P1.	In the figure shown below, R1 = 3.00 Ω, R2 = 6.00 Ω, and R3 = 5.00 Ω.  The battery has negligible internal resistance.  The current I2 through R2 is 4.00 A.  (A) What are the currents I1 and I3?  (B) What is the emf of the battery?
[image: ]






P2.	In the circuit shown below, the voltage across the 2.00-Ω resistor is 12.0 V.  What are the emf of the battery and the current through the 6.00-Ω resistor?
[image: ]


P3.	Consider the circuit shown below.  The current through the 6.00-Ω resistor is 4.00 A, in the direction shown.  What are the currents through the 25.0-Ω and 20.0-Ω resistors?
[image: ]
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P4.	In the circuit shown below, R1 = R2 = R3 = R4 = 4.50 Ω.  (A) Find the equivalent resistance of the circuit.  (B) What is the current through R4?
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